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. . ; Do not write
Answer all questions in the spaces provided. outside the

box

A student prepared some animal cells to view using a microscope.

Figure 1 shows the student preparing the cells.

Figure 1

Covars
Skee

|I| Name two pieces of laboratory equipment the student could have used to prepare
cells to view using a microscope.

i [2 marks] |
| 1 sl ke

2 Cove s(,i?

L
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Do noHt wur:fa
Figure 2 shows the student's light microscope. “ox

Figure 2

rPanA

Part B

| @ Name part A.

| [1 mark]
Lyppiecs [(ans

| |

(0]1].[3] Whatis the function of part B? ‘

[1 mark] |

allow Movermaent o} the Sam'ﬂ(c dalul:& V% and down Fo

POUM the (mage ‘

[0]1].[4] The student tried to look at the cells using the microscope. i

Suggest one reason why the student could not see any cells when looking through
part A.

[1 mark] |
MLOWSw@» Mas, Not ba Vfamsd on e sanple l]
Qe mirror ¢s ol @oljuiled to shine light oo Wi smple ‘

Question 1 continues on the next page ‘

LT

Turn over »
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4

[0]1].[5] Redblood cells are specialised animal cells.

Compare the structure of a red blood cell with the structure of a plant cell. i
[6 marks] |

Booth colls  aps eakowy obie oMy , Contasning o |
cyloplasn and a  ll membrone. }
H°WQU€/ Mair semelorches shop there  as thasy olifies ca !
st othr agpeck. Tor shuee plant ctls hawe acd(|
vl , a Audiss 0nd Chlorephyll |, whick ae M _‘
Shuctues ot preste_preset i a red 6'60/65#‘01'
But red bloodt cils ab hrast Aarsnoglodin ik plcwﬂ
s olo not hawe .
'rlrug odso pljper vy Jetms %f Shape amd scre . Eacl
blood olls howr a breoncawt ghap andt omr
sigdficankly sralles than plak clis.  Flamt—ctts Thes
s beeouse o!' Yoo r .S!ﬁglg!ou 5;9&;,'3};.';4_4( uﬁ,wlolt'on
fo_tery oxyaen. Plant cilts 01 fha ohwr howd Come
(0 _all shages ond Sezeg Loyl out A fferent
atmoh‘ons_

[0]1].[6] When placed into a beaker of water:

¢ ared blood cell bursts
¢ a plant cell does not burst.

Explain why the red blood cell bursts but the plant cell does not burst. -
[2 marks] |

There s ¢ nighe” Condutrotion o} ok oudsede | So ‘
useds poveg cnte tha colls by osmoscs . Plaat colts |
Wowe, o ek wah Mot PmM}s ‘l'l\em J-(le. BMS"-"\:,; |

Do not write

| outside the

box

wi\L yedh lloool colls o"oﬂﬂgg ‘/h-c:? buss? . i
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[0]2].[1] Describe two aseptic techniques the student should have used.
[2 marks] |

A student investigated the effectiveness of three different antibiotics.

Figure 3 shows how the student set up an agar plate.

Figure 3

Filter paper disc
containing
antibiotic A

Bacteria growing
on agar

Filter paper disc
containing

. . antibiotic B
Filter paper disc
containing
antibiotic C

Petri dish |

The student used aseptic technigues to make sure that only one type of bacterium
was growing on the agar.

1 _Eihoui& slarcise ol .e,a',ud'anm wsd omnd Al
_5L_.-£I0\.d-s Voomed ov  pejore tha 2 xR prend

2 Secrne the Lol oMn tapr onte fhe pebr cdrth
‘o pmw Gy beeckave ?eﬂ-cf@ o wele ks wuabutog

Question 2 continues on the next page

I Turn over »
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The student placed the agar plate in an incubator at 25 °C for 48 hours.

Figure 4 shows the agar plate after 48 hours.

Figure 4

Area where no
bacteria were
growing

Bacteria growing
on agar

Petri dish '

[0]2].[2] Which antibiotic is the least effective?

‘ Give a reason for your answer. ;
[1 mark]
. |
i Least effective antibiotic 8 _ |
‘ Reason Hay Yhe amolles) r20'UL % el T nq‘ oo ma_;
' Ch, Twes o Bo wobil areal arownd ta diye on

| whieh Ly sleae way  allesl |

LI
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[0]2].[3] Calculate the area where no bacteria were growing for antibiotic C.

Use m =3.14
Give the unit.
[5 marks]
c&:a«.a)er MeaSGrRed f‘l’bm ‘.F\@u,c_ Yk - .?me
= Yadius = A4 v
| Aye,a c‘,-‘[ ards = 7C Fe I
C
i = ’5 M e (‘\ A mm\ '
5_ = 3. A4 ALA MMt
| - 379 'éLl %u}
| |
i Area = 379. 4 Unit  mam®
|
[0]2].[4] Suggest one way the student could improve the investigation.
[1 mark]

Ty Codd hpuh I 2xpennent sweral dovas  allowisy
Mo, fo excluole anemolics and caloiedR q nean,

Maths Made Easy

Do not write
outside the
box

Turn over for the next question

Turn over »
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healthy range for their height.

Table 1 shows information about two people.

Table 1

Body Mass Index (BMI) is a way of finding out if a person’s body mass falls within a

Maths Made Easy

Person Body mass in kg Height in m

BMI in kg/m?

A 63 1.65

23.1

B 92 1.7

X

Figure 5 shows five BMI categories for adults.

Figure 5

2.02 ': — A '5;

2.00 LA Overweight 7

1.98 : 6 A -
1.96 RSN Lokl
1.94 i £ o i3
1.92
1.90
1.88
1.86
1.84
1.82
1.80-

1784
Helgt 4 76

174
etres
ey o

1.70
1.68
1.66
1.64
1.62
1.604+-
1.58
1.56
1.54
1.52-
150 et
148 11—

40 50 60 70

120

80 90
Body mass in kilograms

100 110

130

Clinically obese

0 8
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o L]
[0]3].[1] Which is the BMI category of person A in Table 1? ‘ box
[1 mark] |
Tick (v) one box. |
Clinically obese
Normal V| s qrp\n
Obese
Overweight
Underweight
| [0]3].[2] Calculate value X in Table 1.
Use the equation: |
BM = body mass ‘
heigh’(2 ‘
Give your answer to 3 significant figures. |
[3 marks]
M| = A2 ko w Q% bg '
A- 31wy 2.9244w2
=31.46263229, . kg [m*
3¢ = M5 kg Jm?
#
X= 34 ¢ §- kg‘{rﬂ2

Question 3 continues on the next page

S el
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[0]3].[3] Describe two patterns shown in Table 2 about the effects of BMI category.

10

Maths Made Easy

Scientists think there is a link between BMI and life expectancy.

Do not write
| outside the
box

Table 2 shows information about predicted life expectancy of men after the age of 50.

Table 2
BMI Predicted number of years Predicted number of years
Eatana living in good health after living in bad health after the
gory the age of 50 age of 50
Normal 19.06 4.98
Overweight 18.68 5.32
Obese 16.37 7.08
Clinically obese 13.07 10.10

[2 marks] !

1 "ﬁu h.t?kt/sl' Jhe BM/( C&Q?og}b_ [owesr Heoe runbes |

o{. yeass  the, hove }¢, Lue ua Qo0 heatih

2 qhe Wgles tha BMI Labyory | dhe Wighus the
Nunlaes of Yeass May hawr Yo Live o bad health

L

1B/M/Jun21/8461/1H



Maths Made Easy

1
Do not write
| outside the
The number of people who are obese in the UK is increasing. | box
!
[0]3].[4] Explain the financial impact on the UK economy of an increasing number of people
who are obese.
[2 marks] |
Paw a foanccat shasn on heoddh Servias as Pawsy nesd
4::'% o e com deatnanks amfdaa?; who sulfes witk |
olascly | and M caﬂ*p(-foqj‘»‘om OMM&
Quoplt mey k. 855 abYs ok and hawe Yo Yale Fire |
Kk Were (requaniiy, |
|
[0]3].[5] Apersonwho is obese is more at risk of arthritis.
Arthritis is a condition that damages joints.
Suggest how arthritis could affect a person’s lifestyle.
[1 mark]
4@5 one Wil &( pouL Mt 'Da.maép_ o WA can |
uad to pobelc R, sowes. |
[0]3].[6] A personwho eats a diet high in saturated fat might become obese. |
Name two health conditions that might develop if a person eats a diet high in '
saturated fat. ‘
Do not refer to arthritis in your answer.
[2 marks]
1 CHD (coronacy lusst Arsease ) |
2 Yue 7 clahefes (dﬂldopzof i'ww?k l.cj,n.) ‘ "
Turn over for the next question
|
Turn over »

1

1
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All living organisms respire.

[0]4].[1] Whatis the chemical equation for aerobic respiration?

Tick (v') one box.

602,+6C0O2 =2 6H20 + CegH1206

6 H,0 + CgH120s = 6H0 +6CO:2

6H0 +6C0O; = 602+ CgH1206

602 + CsHi20s > 6Hz0 + 6CO; v d

Otwe.n + w0tk —> wales + Caskon
| ?LR daoxeole

[0]4].[2] Name the sub-cellular structures where aerobic respiration takes place.

' MmAats chondina

Maths Made Easy

Do not wrile
oulside the
box

[1 mark]

[0]4].[3] Energyis released in respiration.

‘ Give two uses of the energy released in respiration.

[2 marks]

1 Gome @ tha YWleosed ey (v in e formn ¢

i A oody

i‘ e dllownny s YR o haop wyoum -

2 wv\h'osc*"-'av\ Ogh noascdes La.o.dl.'«& b aove skt |

_rgMLres QNN .

L
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o - = T Do not write
y . . . . . outside the
Describe two differences between aerobic and anaerobic respiration in humans. box

Do not refer to oxygen in your answer.
[2 marks]

1 Oumarsobc vagpifadvon produmey lach'c cuexd
il aerobie  prodmess (ashos clioxccte and uafe.
2 owrdocc Le_s?\:mh'on releases Sc.qvm‘(-cowf:;. Mmors.

g, than @uoerobic

What are the two products of anaerobic respiration in plant cells?

A

[2 marks]
Tick (v') two boxes.
Carbon dioxide \/
P
Ethanol ‘/
Glucose
Lactic acid
|
Water .
|
Question 4 continues on the next page ‘
|
|
|
|
|
Turn over »
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. - ) Do rot write
A scientist investigated respiration and photosynthesis using some pondweed and a e e

& bo.
pond snail. ’

Figure 6 shows the apparatus used.

Figure 6

To data logger

Carbon dioxide
probe

Pondweed ~— | _— Boiling tube

7 Pond water

Pond snail

The apparatus was left in a well-lit room for 5 days.
The data logger recorded the concentration of carbon dioxide continuously.
After 5 days, the scientist completely covered the boiling tube with black paper.

The data logger continued to record the concentration of carbon dioxide. |

1 4

1B/M/Jun21/8461/1H
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Do not write
Figure 7 shows the concentration of carbon dioxide inside the boiling tube over i e
15 days.
Figure 7
8.01
7.5-
70_ ryed |
- Concentration g 5. |
- of carbon . | .
. dioxide in 8.0+————— ! Tube covered—|— /! J
arbitrary units . in black paper ' '
5.51 I 1 1 1 i : f
5.0*4 N = | S
| |
f 4.5 | '
: 4_0 T T || T T T T T lr T T T T U !
| 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Time in days
l| , |E| Explain why the concentration of carbon dioxide in the tube stayed the same between
day 0 and day 5.
| [2 marks]
| Ths regpirahion by th snasl and fhe poveliseeet prodess
‘. CO_-,_ . owide. 99\9\0553“1&5:;; by b !aoeb@onolw ‘
‘[ hmu?col,/mmhg}owroﬁmu?-
| Q/"»‘( CO;_ 'QMJC)M wald —Qwaﬂ- ‘
! . Suggest why the concentration of carbon dioxide increased between day 5 and
day 10.
[1 mark]
ML Ught Loas blodud ot boy the pepar. Wottiout (rqlt
o gka\o.ga.nws Could take ploee , 50 1o (6, was jokew ‘
Uy . ($owsnes, hespiradon LL‘;. e snarl cudd . poctu &d
Question 4 continues on the next page '
- N Turn over »

LI
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. o . ) . - — S o - N . i == = ' Dono:w:n
, _ On day 10, the pond snail died. ”ﬁ:' ‘

Explain why the death of the pond snail caused the concentration of carbon dioxide to |
increase after day 10.

[3 marks]
Peat snail ¢s bocny  oucomposied [hrotun down by |

ecompq soaeg pSuchk as bocketa, Decompssers mubaboliy
! @d raalles L‘Zsipdrcngi'}mm ‘:‘C{ }’b@tu Hlu.wna j‘”“-’—"
(o2 Uﬂrom Yoo hesperation .

16
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Amylase is an enzyme that breaks down starch.

[0]5].[1] Amylase is a polymer of smaller molecules.

Name the type of smaller molecule.
[1 mark]

Ounsuno ok ds (_lou.‘.ld-imv bodes of ?’Dhﬂas.\

[0]5].[2] Name the three parts of the human digestive system that produce amylase. |

[2 marks] ‘

1 Satcvory  glond |

2 Peneres s ‘

3 Sradl nhestig |

|

|

! [0]5].[3] Explain how amylase breaks down starch. |
Answer in terms of the ‘lock and key theory’.

[3 marks]

nmt}\m has oo gpeaat ockve sibe on ol Swrface
that Cy Complinontory Jo fhe Shape ¢ Slaxch So can
bunck {6 k. Reeste- Anylare Cadwbaies codalees |
Tha brewo'ng oé chosuteaq bonds  betwegn Smalles
Suguhﬂoiﬂ-u.d.ﬂ-sw._brea/uﬂg olousa Skasyn Uake b
YhoONOMers

Question 5 continues on the next page

L

_ 1

Turn over »
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A student investigated the effect of temperature on the activity of amylase. | e

Figure 8 shows the apparatus used.

Figure 8
Test tube —__| ‘ ( (
‘5\\“\‘-‘-
—— Beaker
——— Waterat5 °C

5 cm? of

starch solution — 1 cm3 of

amylase solution

This is the method used.

1. Set up the apparatus as shown in Figure 8.

2. After 5 minutes, pour the starch solution into the amylase solution and mix.
3. Remove one drop of the starch-amylase mixture and place onto a spotting tile. |

4, Immediately add two drops of iodine solution to the starch-amylase mixture on the
spotting tile. I

5. Record the colour of the iodine solution added to the starch-amylase mixture. i
6. Repeat steps 3 to 5 every minute until the iodine solution stays yellow-brown. |
|

7. Repeat steps 1 to 6 using water at different temperatures.

1 8 IB/M/Jun21/8461/1H
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Do not write

[z| Name two control variables the student used in the investigation. o
[2 marks]

1 Sone volume o) quylage Sodcon - 4 cmd
2 S0me n.uva‘urof- drops of vodltnt. scluhon coldd ~ 2 olrogs

[0]5].[5] Why did the student leave the starch solution and amylase solution for 5 minutes
before mixing them?

[1 mark] ‘
Plow bot Soluriems bo reach a oMl Cewrea Conmon ‘
h&pmm,

Question 5 continues on the next page

Turn over »
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Table 3 shows the results of the investigation.

Table 3 ‘
Temparsturs in"G | e ntor
5 did not become yellow-brown
20 5 |
35 2 .
50 7 |
| 65 14 |
‘ 80 did not become yellow-brown

. El What conclusion can be made about the effect of temperature on amylase activity
| between 20 °C and 65 °C?

nd\iut-'lt\ Areases woth tuqperoduws up bo 3¢, ajf |
wich ok da,u.uuscs Mont gnd mort @3 )-Uq!uadum L'nur&su,‘

L

IB/M/Jun21/8461/1H
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Do not write

[0[5].[7] Explain the results at 5 °C and at 80 °C. b

Use Table 3.
[5 marks]

Jodene. oletd ot fun Yytllow - brown s Shrch oy kU

presok N fhe Solution, hasht been brokos plown by

_Qpylase

Re 5% ;4&-1'/:/':0&»0 s b low 450 paskicles hewe esy

low amownd d,f halas b QAL TS o aunc Vea JC»J

SucRss M Colliscons ol espyma~ Substrodke  Complosces ,fafm.d |

% shewch betak pown  punt heypen. |
|

AL 80 Jhe ﬁ“wnro.hvt S fe Mk Corsive) nylase to
(lnakue . They C‘leJgS #As achve sule o’[ Mlqw_ Se

¢k com ho lofnfm; jd— skarth  @nd M o down .
! So sharch  Loont G4 bro\en clovwr.

Describe how the student could extend the investigation to determine the effect of a
different factor on amylase activity. |

[2 marks] |

| {h«'@ coudd ke {he J&nfu-o.m Conshant and only |
| Change. o differcar fackor W yH. B Yeskng dg |
| achivety S mlum ot o ranyo of ?Hj volues

\
( [0]5].[8] The student investigated the effect of temperature on amylase activity.
|
|
|

Turn over for the next question |
|

Turn over b

L
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Figure 9 shows a cross section of a leaf.

Figure 9

II] Which cell is most transparent?

Tick (v') one box.

-

A\/rB c D |

|

i e to et |_
. Uahk tWrocan Yo

’ prdtos Aty ks (3

[0]6].[2] Which cell structure in a leaf mesophyll cell is not found in a root hair cell? '
[1 mark]

Chl.orc@\a.S\'
l ((‘,NO“OQM“ s not & LN shudout (buk o F‘:JM on
| horopt=st)
f

22 1B/M/Jun21/8461/1H
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i — 1 Do not write
outside the
Plants lose water through their leaves. bax

Name the cells in a leaf that control the rate of water loss.
[1 mark] |

quosck ally  (conbol, e gpen'y a/vfc/aaa'/ﬁ 9f e Shomas)

[0]6].[4] Wateris taken in by the roots, transported up the plant and lost from the leaves.

L

Which scientific term describes this movement of water?
[1 mark] |

,}r Ms‘gdrdﬁm Steom

|
Which change would decrease the rate of water loss from a plant's leaves? |
[1 mark]

Tick (v') one box.

. Vst Aty \ower
Concantradion gmdc&lr:

Increased humidity

Increased light intensity betwarn the cagiele
amd Fhe oudsedle d
Increased density of stomata Phe t‘-‘“ﬂ

Increased temperature

Question 6 continues on the next page

Turn over »
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, . i
[0]6].[6] Compare the structure and function of xylem tissue and phloem tissue. - box

[6 marks]
Qfg&m ctlls ot hollow, oleadl colls Containing (aguuin, }
W kile ?h\oe»\ s aue alive amd nok hollow ay Lk'?;" :
condain Uptoplagm. Than do rok combein Usnin | bust bithile
Kol olhs  have pores of thar end woelts. Bed
ay\ete,  Gnol pﬂ(ou« s 0nn oot upal ahs
ond Hbdar foruing dha Vascadar bundle o fle plast.
|
Tha segluss fonchion sho brcrspurt walec apd mineca |
vons ,}TU"" WL root fo aw/oﬁo’!;wr?s %Hlm 'g/cm#. |
This & dlone wrkdirRch onallay Lgwosds Prroual Yhe |
process o) drouspication. On the olhor hasd, phloem
| s cavoluest o Tromssbcakion L Ui (s beolirechional f
Yronsporking  Sugars (up @ obwn Jhx //«n/. Howeue |
both trangpock o liguid nwolium fhoughot Hee —|

ool r\an} .

l ’Iml "I“ ||I' 1"’ 1B/M/Jun21/8461/1H
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Figure 10 shows the total volume of water lost from a plant over 6 hours.

Volume of
water lost
in cm3

26

Figure

10

Maths Made Easy

250+

240+

2304

220

2101

200+~

190

1801

170+——1—

|

160 +—
08:00

10:00

f .
12:00
Time of day

14:00

2 6
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[0]6].[7] Determine the rate of water loss at 12:00 box
Use the tangent on Figure 10,
Give your answer:
¢ in cm?® per minute
e in standard form. |
[4 marks] |
08:00 - {90cm - 08:00 41890 s 8 howrs |
Vo 7pric i A - 190t 302 YO o’ Change |
15200 - 230 nd ‘
|
U om® us P ¥ houss |
o = %= 5 344285, pu’fhw |
60 min = 4\’\
14285 3 60= 0 B2 35 on®
S. 744285 €0 6.69523Fcn>Jrwn
-2
Shewdarol fomz 3.TX40°" cud [oun
Rate of water loss = AG yho™ cm?® per minute
[0]6].[8] The rate of water loss at midnight was much lower than at 12:00 ‘
Explain why. ‘
[2 marks] |
Loss woalec |oss a}l"-ﬁguo.;-.*l'(-u. Sherada a '
Clostl  as Pho’*e.st,vwl'luus K \'\App-eru‘a;, s
fo no gt o VLS |
| 17

Turn over for the next question

Turn over »

L

1B/M/Jun21/8461/1H



Maths Made Easy

28

(0]7] Figure 11 shows where three of the same type of tumour were found in a patient.

Figure 11

Tumours

Malignant tumours are cancers.
[0]7].[1] Describe what happens to cells when a tumour forms. |
[1 mark] ‘
“Tummors o Ms o Cally ot grow and divede |

Gdar\orvnuﬂdta Ny sk O\JJJ Cronbvo | |

|
| |
|Z| What evidence is there in Figure 11 to suggest that the tumour in the lung |

is malignant? .

[1 mark]
Wy spuad bo ofer pasts of Jka hocls, | frem tha

borgs ko dna Lones.

L

1B/M/Jun21/8461/1H
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[0]7].[3] Some types of cancer can cause the numbers of blood components in a person’s

NI
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29

body to fall to a dangerously low level. |

A person with one of these types of cancer may experience symptoms such as:
e tiredness

» frequent infections
 bleeding that will not stop after the skin is cut.
|

|
Explain how a very low number of blood components in the body can cause |
these symptoms.

[Gmarks]‘
Teesduness can be Caused b ijwtr el bleod CMs |

which dhgefoe Can onl h?:msf_af" less Oxeyomm
Haz laocbg Ps O¥9ans dond pacive Wual\ ox ygen "‘\”‘b |

|
Junchion less effechvels, Gactigs Jo bigstunass . |

Peguant nfedtons codedd be olue Yo olecrase Lol ba
Llocot ot puunbsores, Wt bliod cells a= respons 'k = |
for Q\&%O%bsc‘s andl Onft,boo(g. prodachon i s o :
what port of @ tmmne resense. Fewes whcle bleod eutl it
he loss Gpek're ca Skppy _phaksens (avaskng ta lzvjz)

Plak\éds o< responscble for bloodt Q\ON'\; Qued Sloppt‘fg
L;Mr:, ﬁ} thase ore low 1 rusdber oxu1v Cuds ov
brudges welk  vot  clol Q,o.scla \,eowaaa 4 danatyous
and  exceessdug 'oMf\g |

Question 7 continues on the next page
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Some patients with a very low number of blood cells may be given a blood

transfusion.

A blood transfusion is where a patient receives blood from a donor.

Different people have different blood groups.

Figure 12 shows:

« the red blood cells found in people with different blood groups
« the antibodies that can be made by people with different blood groups.

cell

Anti-B antibodies

Anti-A antibodies

Figure 12
Blood group A Blood group B Blood group O
Type A Type B
antigens antigens
~{ Red blood { Redblood |- Red cg:lood

\(VKM

Anti-A and anti-B antibodies

i

Antibodies can bind to

When antibodies bind to the antigens on red

clump together.

Each red blood cell is about 8

Many ca

pm in diameter.

antigens that have complementary shapes.

pillaries have an internal diameter of about 10 pm.

blood cells, many red blood cells begin to |

1B/M/Jun21/8461/11H

outside the
box



Maths Made Easy

31

| Do not write

|
In one type of blood transfusion, only red blood cells from a donor are transferred to
the patient.

|

|

|

|

10[7].[4] Itis dangerous for a patient with blood group A to receive red blood cells from a donor |
with blood group B.

|
Explain why.

[3 marks]:

Tha red blood colls U,Lrow\ o. doner L group wot Vlew&_;

_-B.“;Q_ %3 O.nk":\rms on vk Cusfacs. T"\LW A PaJU‘ZM}

| Wt hawe Ak =B gakboolies  which ol biadt o o
| B onkoes on the Sefack g the ved blocot ctls . Tiss |
|' Ceunses fhrsg Bloool colls o Cliwmp wlcd\csbx'%,@/+km_!
Coppllony  cdlhiometrys  locleing q gpelhouries H- Ths Locts
G Oxyoen Jlow do cells \who Cant regpin amel obie o) |
dwe to lack of Oxygen. |

[o]7]. (7].[5] Explain why blood group O red blood cells can be given to patients with any |
' blood group. '

[Zmarks]I
QTDo-.pO e blacol  celle hawe nesther N or Baufr.ggd

on Aiv Swdtce . o po gulbockies Lol biad To grewp O |

\JLJ u“-"d cels J '}AM'Q'JQ'" o CJMAMoan, wild oCcur. |
|

Question 7 continues on the next page ‘
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[0]7].[6] Table 4 shows some of the risks associated with blood transfusions. box
Table 4
i
Risk Probability of risk occurring ‘
Allergic reaction 0.9% O-09 |
Hepatitis B infection 1in (3 x 105) 0. 003
Hepatitis C infection 6.7 x 10~ 0.000C00 67
Kidney damage 1in 70 000 N 0.0ac0 4|I(I
Which risk has the lowest probability of occurring?
[1 mark]

Tick (v') one box.

Allergic reaction

Hepatitis B infection

Hepatitis C infection V]

Kidney damage

L
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[0]7].[7] Aperson has a tumour blocking the tube leading from the gall bladder to the
small intestine.

Explain why this person would have difficulty digesting fat.

[5 marks] |

“Tha gaﬂ blaolcdler Prod#u.s BG(.L'.-MAA Us  Secredect to

'“‘U- Sl C'\k_;#t'f\.u. The Kemorr s L?‘-Od--"E (4

peshriching e ;low of bile b the Small caleshing .
BO'(L 5 {,'('w'[ar"q_u.‘- ‘IL@ Md}(ﬂ :Qt?g ch‘ oL'ro'ka‘..f e

pellas 0Nas | dg inovase fhetr e i, TR hadps
LLPQ-""S bread.  down faJs -Qﬂedm ehy,

&0. ase ptukralises Sromack accet | yoctiout b gnalt
(alyNre  pemaiins aatdie  (rRaking WEFWW“
conhiong 6}“ kpases to ket hreak olown fets.

Do not write
outside the
box
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MW

1B/M/Jun21/8461/1H




